

Pay Estimate Created Date: November 30, 2021

t \$0.00	ginal Contract Amount t Change Order Amount rrent Contract Amount	r 30, 2021 Ne i			200417-H04 Collins & Hermar			Progress Estimate Nu 34				
By User								Approval Date				
wilkem	Project Office Level by	Draft) at the P	ber 30, Generated and Approved (and should be considered E									
wilkem	ent Engineer Level by) at the Reside	d be considered Drafi	ed (and should	ved and Approve	Review	November 30, 2021					
ramses	rollers Office Level by	ember 3, Reviewed and Approved at the Central Office Controllers Office L										
t Complete	urrent Contract Amount	% of C	Completion Date	Current Completion Date Actual C			Original Completion Date					
	121.40%				2022		June 30, 2021					
		es	Mileston		tes	ct Informational Dat	Contrac					
		for Contract	No Milestones Exist	letion Date	Current Comp	al Completion Date	Original	Date Description Origina				
								Acceptance Date				
					May 6, 2020	2020	May 6, 2	Awarded Date				
					April 17, 2020	7, 2020	April 17,	Letting Date				
					July 1, 2020	2020	July 1, 2	Notice to Proceed Date				
								Open to Traffic Date				
								Nork Began Date				

Contract Total Pa	ay For Estimate	No. 34					
			This Estimate	Previo	ous	To Dat	е
200417-H04 Contract Total Pa	Gross Iter Incentive Disincenti Liquidated Other Con	d Damage ntract Adjustr	ts \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00		\$0.00 \$0.00 \$0.00 \$0.00 \$0.00	,202.27 ,202.27
ems Paid This Es		ltara Oada	ltere Deceminister	Linit	Linit Dring		
Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J9P3578	0010	6189916	MISC.Nighttime work adjustment factor	DLR	\$1.550	487	\$754.85
	0020	6189916	MISC.Normal work adjustment factor	DLR	\$1.600	18,949	\$30,318.40
Project J9P3578	- Total						\$31,073.25
Overall - Total							\$31,073.25
Contract Adjustme	ents This Estim	nate					
lo Contract Adjustr							

No Data Available



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

	Contract Project Information												
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work								
J9P3578	FAS- S703(081)	Job Order Contract for guard cable and guardrail repairs	Various	VARIOUS	in various locations in the Southeast District								

Totals by Job Numbers

23578	This Estimate	Previous	To Date
Posted Item Pay	\$31,073.25	\$2,088,129.02	\$2,119,202.27
Gross Item Adjustments	\$0.00	\$0.00	\$0.00
Gross Item Pay	\$31,073.25	\$2,088,129.02	\$2,119,202.27
Incentive	\$0.00	\$0.00	\$0.00
Disincentive	\$0.00	\$0.00	\$0.00
Liquidated Damages	\$0.00	\$0.00	\$0.00
Other Contract Adjustments	\$0.00	\$0.00	\$0.00



Exceptions (Discrepancies) This Estimate Period No Exceptions Exist on Contract

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values ar	based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	ltem Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
200417-H04	J9P3578	0001	0010	6189916	MISC.Nighttime work adjustment factor	55,000.00	0.00	55,000.00	DLR	121,258.00	\$1.55	\$187,949.90
		0001	0020	6189916	MISC.Normal work adjustment factor	990,000.00	0.00	990,000.00	DLR	1,189,747.50	\$1.60	\$1,903,596.00
		0001	0030	6189916	MISC.Weekend work adjustment factor	55,000.00	0.00	55,000.00	DLR	0.00	\$1.39	\$0.00
		0001	9000	6189916	MISC.Liquidated Damages	0.00			DLR	5,000.00	(\$1.00)	(\$5,000.00)
		0001	9100	6189916	MISC.Additional Items	0.00			DLR	25,456.37	\$1.00	\$25,456.37
		0001	9200	6189902	MISC.High Priority Repair	0.00			EA	3.00	\$2,400.00	\$7,200.00
	Project JS	9P3578 - To	otal Value	Posted to	Date as of Report Generated Date							\$2,119,202.27
200417-H04 Ove	rall - Total	Value Post	ed to Dat	te as of Rep	port Generated Date							\$2,119,202.27



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line umber	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	6189916	MISC.	11/30/21	11/30/21	487.00	DLR	K21H8444 - US 61 NB at Rt K, Cape Girardeau County					
0020	20 6189916 MISC.	11/30/21	11/30/21	691.00	DLR	K21H8451 - US-61 NB at 0.25 miles N of I-55 exit 93B, Cape Girardeau County						
				11/30/21	788.00	DLR	K21H8452 - Rt Y WB at 0.5 miles W of Rt BB, Scott County					
				11/30/21	860.00	DLR	K21H8432 - I-55 mm 19, Pemiscot County					
				11/30/21	3,217.00	DLR	K21H8430 - I-55 mm 31.8, Pemiscot County					
			11/30/21 3,709.00 DLR K21H8445 - US-61 at 10 miles Girardeau County									
				11/30/21	3,800.00	DLR	K21H8450 - 74 WB at I-55 NB exit 93A, Cape Girardeau County					
				11/30/21	5,884.00	DLR	K21H8453 - MO-49 at 4 miles N of Piedmont, Wayne County					

The information below this line are details for Construction Signs (if applicable). No Data Available



Line Item Adjustments by Estimate

Contract ID:190621-F01

No Data Available